B ( 89. 8.1  90. 7. 31)
AR VR A B U 7 R PTG [T
A YURETC ) EEr |
FEFIREDAEYY | NT 4,230,349 [7,337 & e

'*%‘T‘a” NT 71,020 219 = ﬁ%ﬁw%%?

T% (2550 | NT 189,868 | 262 57 Sy
H Ry NT 314,678 | 650 =r “E'“‘H
PRFAASTY [ NT 428781 | 6203 | 15657\
fl [l
A= [l
o ] e b
[l i
LR TR 557,928 | 817 817 [+ * fE®
! L]
= NT 7,093,664 [9,088 27 | 16,474 ]
mEAEHEEIFEIR
( )
D SRR R A R > = FH TR

A

£ W%f?’,[ﬁl H
&%ﬁﬁi{[fﬁ ) E,[#‘[E g
BN Eméﬁ‘j‘%
V0 1T 59 65 45075 2 il
B9 > 25 T RL (i [y BRI s
TR ERE R
= T Eﬁn‘[:i/ %Ii'ﬁa%}
PUAE > F] P
SRR Rl < ’ﬁ!fi*‘ﬁf’?éﬁ’ﬁﬁ

~ ?‘[ E‘JJE%‘

KV

i

7[?1/ j"?[ﬁrjf RS T FJ

IE ?I #[ ,

RETIPTIAE

Ik R VR ]
A BT EE R T A |
H F‘L%‘»ﬁ?tﬁg;rﬁgﬁ[] 10 = o H:
SwE ) P AL S G A
ﬁ’ﬁﬁﬁﬁ‘ﬁff B [l HA
€ F FHRl < AL
EE 0 2 T[RRI GRS
?iﬁl? 19 RGBT
® EFJYME’JF??} ?[?JH' =
U 1360 7 @ --F
g ( )

H

g
>

~

%




B B

£ EEJ‘%Z?ZF?:} BT
‘FEV/IJ |5 196 i Fk[’,;qm I?{
9 8000{%

3% F#E’éﬁﬁ?;iﬁ%@a
W TR AT A
FUREHE ORTORT) T [R5 B
I R B T
ST LY FBTE - R

o fE RIS
: i“'fif??;i;g

730 3

W AR T
RS b A5 1) R
Frshe s Gy X -

4 EEBFERA I
TR AR R
ANk N RS
ER lﬁ?’f wOx h34 »
5 B I o 50 R S
i iR ﬁj,ﬁd[%’ﬁ{&l I:ﬁﬂ Elﬁ[
= :ISFIH(QTJI&% ]E[ B

PR EFF FJ%J o
Sh 2 *ﬁ BT AR 1706
ﬁ%%ﬁ%@i;mo
6~ ﬁ‘?ﬁ'ﬂ'}iﬁi ?’F’Iﬁg\“’:’?jﬂ% D pd
@wwazs e
B LS E

BEEENLRE Y-

X—-HFEEFERFERE

kuﬂ—k ;Q;EFF A ;T_j‘;g?g;ﬂj
o SR B - 2
?WFﬂﬁﬁﬁwNWWﬁ{m

wRAR [T EEY
}ij/\ 10 *] 22 EIE- 115 1>
o I 3

T

)

3 L SRR B R P
P o PR B 29
HErAYE J 2500 f $r T J o i
FHERZRH B9 ¥ 2 e
Rl NGRS T
f[



